New Maths GCSE: A8 - Midpoint of Co-ordinates

& Correct Answer: ABCD
(7. 9) What is the Explanation:
° mid-point
(3,1) between these | s
b ~ L
~  ordinates?
(4’ 8) B (5.5, 5.5) --------------------------------------------------------------------------
(10,10) B (5,5) | o
" Correct Answer: ABCD
L5 What is the Explanation:
(2, 3) . i, 5 KO
i between these
R L0 o
~  ordinates?
(7, 10) B (3.5, 10) --------------------------------------------------------------------------
(4,5) B (3.55) | o
" Correct Answer: ABCD
(-4, 6) What is the Explanation:
o mid-point
N 5 3) between these
SROIW0CO- |
- ordinates?
(1,4.5) O (2,5) ..........................................................................
(2,45) B (10,9) | o
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35,8) B (-1.5,-2)
(-3,—4) B (1.5,2)

" (2, -6)

What is the
mid-point
between these
two co-
ordinates?

L
(-61 -3)

(-1,1) B (=05,0.5)
(0.5,—05)8 (1,-1)

What is the
mid-point
between these
two co-
ordinates?

(4, 5)

v

2,1.5) B (8,3)
B (415)

(4,3)

(4, -2)

What is the
mid-point
between these
two co-
ordinates?

(_41 _6)

(-1,-6) B (-0.5,-3)
(0.5,—3) B (—0.5,—6)

L]
(3, -6)

What is the
mid-point
between these
two co-
ordinates?
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(-5, 7) A

(-1,1) I

What is the
mid-point
between these
two co-
ordinates?

(=3,4) B (—6,8)
(-2,4) B (-2,3.5)

v

(-5,-1)
o (‘21 '6)

(=7,—7) B (=1.5,—2.5)

What is the
mid-point
between these
two co-
ordinates?

(—=3.5,-358 (-3,-5)

(4,-0.2)

5
>

(1.4, -3)

What is the
mid-point
between these
two co-
ordinates?

(2.7,-1.4) & (3.6,-2.8)

(2.7,-1.6) B (5.4,—2.8)
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